# Sage code to compute the desired coefficient

P, (x1,x2,x3,x4,x5,x6,x7,yl,y2,y3,y4,y5,y6,y7,y8)=PolynomialRing(zz, 15,
[lelJlle,IX3IJIX4l,IX5I)IX6l,lX7l’ly1l,ly2I,Iy3l,ly4l,Iy5l,ly6l,Iy7l,ly8l]).objgens
O

fx1=(x1-x2)*(x1-x3)*(y1l-x1)*(y2-x1)*(y3-x1)*(x4-x5)*(x6-x7)*(y4-y5)*(y6-y7)*(y7-y8)
C1 =fx1l.coefficient(x1)
Fx2=x1*C1*(x2-x3)*(x2-x4)*(y1l-x2)*(y2-x2)*(y3-x2)*(y4-x2)
C2 =fx2.coefficient(x2”3);
Fx3=x2"3*¥C2*(x3-x4)*(x3-x5)*(y2-x3)*(y3-x3)*(y4-x3)*(y5-x3)
C3 =fx3.coefficient(x374)
fX4=x3"4*C3*(x4-x6)*(y4-x4)*(y5-x4)*(y6-x4)*(y3-x4)

C4 =fx4.coefficient(x4"4)

FX5=xX4"4*C4* (x5-x6)* (x5-X7)*(y4-x5)*(y5-x5)*(y6-x5)*(y7-%5)
C5 =fx5.coefficient(x574)
fXx6=x5"4*C5*(y5-x6)*(y6-x6)*(y7-x6)*(y8-x6)

C6 =fx6.coefficient(x673)

fX7=x6"3*C6* (y6-Xx7)*(y7-x7)*(y8-x7)

C7 =fx7.coefficient(x7)

# We have now reduced far enough so that we can take the rest of the terms

f = x7*C7*(yl-y2)*(y2-y3)*(y3-y4)*(y5-y6)

M=F.coefficient (x1*x2/3*(x3*x4*x5) M*x6"3*x7*y1*y2/3* (y3*yd*y5*y6)r4*y7/3*yg)
print M



